Bellwork Wednesday, April 30, 2014

1. Simplify this trigonometric expression to a single trig

function or number.
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3. Graph one period of this function. Label the coordinates of
all max, min, and x-intercepts.
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2. Write the equation of this function.
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6. Giverf Cscd = 52 ffind the other five trigonometric ratios.

5. State the Period and give 4 Zeros and 4 \ertical Asymptotes for
this function:
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7. Find both a positive and a negative coterminal angle for each
angle. Give your answer in the same form as the given angle.

a) 0= 1340° b) 6= 729% '\‘ Z;U = —l@‘ﬂ‘lﬁr
0 D
Pos: {7)00, ?000) &2 pos: ar
K,

Neg: ”‘/OOD Neg: “’%W )“liojf
_ZET (do*
—7 S __

T



